
OSCAR FORMULA

Another indicator I use that can help us get an idea where prices may be headed is one I

call Oscar (OSC).  

What we’re looking for is an indicator that will tell us on a somewhat consistent basis that

prices have reached an “overbought” or “oversold” level.  In other words we want to

know if prices might be getting ready to change direction.  Oscar often coincides with a

change of direction and confirms the event. 

There are a number of ways to construct an oscillator.  The one I use gives me the best

combination of averaging and simplicity that I’ve found for the strategy I employ.

This is the formula we use:  

let A = the highest high of the last eight days (including today)

let B = the lowest low of the past eight days (including today)

let C = today's closing price

let X = yesterday's oscillator figure (Oscar)

Today's "rough" oscillator equals (C-B) divided by (A-B) times 100.

Next we "smooth" our rough number (let's call it Y) like this:

Final oscillator number = ((X divided by 3) times 2), plus (Y divided by 3).

    



     

Let’s do an example.  We’ll use  a common stock, United Technology.  The program was

originally written for stocks, but works equally well with the Forex market.

Turn to the next page.  Go to April 8th.  Count back eight days.  The high for that period is

91.32 ( just happened to be today).  The low is 84.75, made on March 30th (just happened

to be 8 days back).  Today's close is 89.80.  

Yesterday's oscillator (shown in the second column), is 87.  

Today's closing price, 89.80 minus the 8 day low, 84.75, equals 5.05.

The 8 day high, 91.32, minus the 8 day low, 84.75, equals 6.57.

5.05 divided by 6.57 equals 0.769.  0.769 times 100 equals 76.9.

87 divided by 3 equals 29.00.  29.00 times 2 equals 58.00.

76.9 divided by 3 equals 25.63.

58.00 + 25.63  = 83.63, or 84 rounded off.

On the last two pages we show how to start the Oscar figures.  Simply go down and enter

50 in the seventh line and start your calculations.  Within several entries the indicator will

average out and become usable.










